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Topic:- General Knowledge and Logical Knowledge

1) Jhelum, Chenab, Ravi, Beas and Sutlej are tributaries of . /é?l'q, aTIW, Tlﬂ, U 3R
qaqel F TeTad AT g

1. Cauvery / PIART
2. Narmada / :Iﬂa

3. Brahmaputra / SS&Tq"

4, Indus / ﬁf%

Correct Answer :-

e Indus /T8y

2) Who is the Governor of Madhya Pradesh /qmu%.sa%mtrmﬁq%?
1. Om Prakash Kohli / sﬁnwaﬁw
2. Ram Naresh Yadav / XTH Y g1ed

3. Balram Das Tandon / d¢IRTH oY ¢

4, Sitasharan Sharma /“\-‘ﬂT'I'I'EZITUTQTJ:Hc

Correct Answer :-

e Om Prakash Kohli / &hﬂumaﬁﬁﬂ

3) Find the odd one out: / Th ﬁ'q'qil'lﬁ Gﬂﬁl'({:
1,8,9, 36, 25, 216, 49

1. 36

2.49

()



3.9

4. 216

Correct Answer :-

e 36

4) If HONESTY is coded INODTSZ, then how is WORSHIP coded? / af& HONESTY B INODTSZ | BIfSd

e SITaT B, I worsHIP @1 $1 wifsd far sram?
1. XNSRIHQ

2. XNSRIHQ

3. XPSTIIQ

4. XPTSLIQ

Correct Answer :-
e XNSRIHQ

5) If VIJAYA is coded VILDCF, then how is DEEPALI coded? / Tf¢ VIJAYA DY viLDCF A Difed fhar wimar g,

@t DEEPALI ) F- Fifsd forar SATT?
1. DFGSEQO
2. DFGSEPO
3. DFGSFQO

4. DFGTEQO

Correct Answer :-
e« DFGSEQO

6) A few boys are sitting in a row. Prateek is sitting fifteenth from the left and Rahul is the tenth boy from
the right. If there are five boys between Prateek and Rahul, how many boys are there in the row? /

ASP UP Ufe § 93 §U &1 Ul 91¢ | U=xgdi & 3NR Igd 3¢ A gHai g1 afe wdld iR Iga &
&9 § viw wsd €, 9 ufea A e asd &2

1.29
2.31
3.33

4. 30

@)



Correct Answer :-
e 30

7) The bank note printing press in Madhya Pradesh is at / H& ueR # §& Al HKUITeg (mﬁ'rl') ﬁ:f
fRag?

1. Ujjain / IS

2. Nepanagar / AUMATR

3. Hoshangabad / BIRITIETG
4. Dewas / GAT

Correct Answer :-

« Dewas/carg

8) Who is the President who has had the longest term in office? / dg TI'E"TI%I o %:, T 9o wdt
3afy o1 HrdhTe BT 82

1. Rajendra Prasad / JoI5 UG

2. Zakir Hussain / 9TTfbY E@q

3. S Radhakrishnan / T TYTH T
4. Hamid Ansari / BTT0G 3R]

Correct Answer :-

» Rajendra Prasad /X oI UG

9) Who is the Chairman of SEBI? / 9l T 3{eH&f B g2
1. Ajay Tyagi / 3o AT

2. S Jaishankar / T STOR[HR

3. C B Bhave / I &t H1d

4. UK Sinha /g & gl

Correct Answer :-

o Ajay Tyagi/ 3T G

(4)



In terms of population, the largest city of Madhya Pradesh is / ST ST & YR T A UG T G99
TSTUET 8

1. Indore / 33 N
2. Gwalior / TaTTeTOR

3. Jabalpur / SISTYR
4. Bhopal / Hrard

Correct Answer :-

e Indore/ s’a?

11) How many scheduled languages are recognized in India? / HRd H foat Glﬂ'\‘]ﬁl?l HTYTY |
T &2

1. 20
2. 28
3.22

4. 35

Correct Answer :-

e 22

12) Which among the following is NOT a region of Madhya Pradesh? / Fafafea d s ar g as
TN H 51 87

1. Bagelkhand / TIADIS

2. Mahakaushal / W"x’lﬁ

3. Malwa / HIId[

4. Chota Nagpur / Jrel ANTYR

Correct Answer :-

« Chota Nagpur / Jrel ANTYR

13) Which of the following states won the 10th National Award for excellent work in Mahatma Gandhi
National Rural Employment Guarantee Act, 2005 (MGNREGA) in 2015? / AgTeHT Tt It uriior

AR MRS AT 2005 (THSHTARSSIY) & dgd a¥ 2015 # Sy &1d & fore Fuifea d @
forr T 7 1087 I e St

1. Gujarat / 7]oIRTd
®)



2. Rajasthan / XTSI
3. Assam / 3IH

4. Madhya Pradesh / H&J Tl

Correct Answer :-

« Madhya Pradesh / H&J Tl

14) Which day is celebrated as International Yoga Day? /fpafeast GI?R{@'C[ TR faaFwud
HATT STl 32

1. April 23 / 310 23
2. June 21 / S 21

3. September 21/ RIATR 21
4. July 21 / S[T8 21

Correct Answer :-
e June 21 /9d21

15) The present Union Minister for Road Transport and Highways is /adHE o Jsh 'CI'RHE:T

3R IRt & fog st wft 1 32
1. Suresh Prabhu / W oK

2. Rajnath Singh / XTST1Y Rig

3. Nitin Gadkari / [AfaH T

4. Kalraj Mishra / & IRl oy

Correct Answer :-

« Nitin Gadkari / a9 Tg&H<

16) The holy river that is the site for the Simhastha Kumb Mela / dg ufa=x qé)f\_rﬁ ﬁl?w Q’T‘Hﬁ?ﬁ DT
T B

1. Narmada / THG
2. Shipra/m
3. Sindu / &Y

4. Ganga / T

(6)



Correct Answer :-

 Shipra/ Ry

17) Tapti river flows into the / A& ) BT SITHR fAraed 82
1. Bay of Bengal / STl Gl ?@3)[

2. Gulf of Mannar / HAR ﬁ“@ﬂ@?

3. Gulf of Khambhat / TIC Pi TS

4, Indian Ocean / %_C{ HE IR

Correct Answer :-

« Gulf of Khambhat / TIEC B! Wral

18) The maximum strength of Lok Sabha as envisaged by the Constitution is S Afqu = o

RGP T oUR, e A d aftrpaw | ge@alaeasl
1. 552
2.250
3. 546

4. 525

Correct Answer :-

e 552

19) With which game do you associate Saina Nehwal? / |Ig-T Agard f5a Ia | Jafta 82
1. Hockey / el

2. Table Tennis / & ¢

3. Badminton / S fHcA

4. Chess / TSl

Correct Answer :-

e Badminton / é@,ﬁﬁ

20) ‘Korba Thermal Plant’ is located in / PR YU d Wi’ A Isg ° R4 %:

(7)



1. Gujarat / 7]oIRTd
2. Uttar Pradesh / SR U

3. Chhattisgarh / gaﬂww

4. Madhya Pradesh / H&] Taxl

Correct Answer :-

 Chhattisgarh / m

21) India joined the Missile Technology Control Regime (MTCR) in the year/ CL H YRd ﬁl'\q'l?g?l'

W AT srawT (TadRitem) & wnfire gam uTl
1. 2011
2. 1998
3.2016

4. 2007

Correct Answer :-
e 2016

22) The first battle of Panipat in 1526 was fought between Babar and / 1526 ﬁ, qHud B tl?ﬁ ?I@'Ig

IR 3R §9& dta a1 7%
1. Rana Sanga / 10T 1T

2. Hemu/%‘ﬁ[\

3. Daulat Khan Lodi / aﬂﬁ PCIGE F‘ﬁ_pr
4. Tbrahim Lodi / SSRH ole!

Correct Answer :-

« Ibrahim Lodi / SSTgH dlal

23) Maharashtra granted the minority status to in 2016 / HEIRTY F2016 ° Cal

SAFTETD ol WP foaT AT
1. Parsis/w
2. Sikhs / Rra}

3. Jews /qiﬁ'q}f

(8)



4, Peshwas /ef%ﬂ@rﬁ

Correct Answer :-

o Jews /I@ﬁtﬁ

24) Complete the series choosing the missing number: / & TBAT GADHR YT DI TRT DITOIQ:
8, 24, 12, , 18, 54

1.24

2. 36

3.42

4. 48

Correct Answer :-

25) Complete the series choosing the missing number: / & TBAT GADHR YT DI GRT DIToIQ:
36,28,24,22,

1. 20

2.21

3. 18

4. 22

Correct Answer :-

o 21

26) Complete the series choosing the missing number: / & TBAT GADHR YT DI QT DITOIQ:
28, 33, 31, 36, .39

1. 38

2.34

3.35

4.33

Correct Answer :-

©)



27) Select the option that is true about the Statements and Conclusions given: / 39 fawe
BT 9g-1 BIfoT @it % g e Hy=1 3k Aol & Ik o O&t 8:

Statements: [/ ®YH:

No river is sea / I3 -l TS 781 8
All seas are oceans / Tt Y% HeUTR %

Conclusions: / e
I. All rivers are oceans / ¥} 7} HgTTR §
I1. No river is oceans / ﬁé =|7ﬁ HeANMR Hﬁ%

1. only conclusion Il follows / Had TH || G@TUTWT%

2. only conclusion | follows / Had FTpY | WW%

3. neither conclusion | nor conclusion Il follows /:[éafﬁ'@h_@fl Gﬁqq@ﬁ@h—@f 1] WW%
4. both conclusion | and Il follows / &Y | 3R 11 G G@TUTEF{_?[%

Correct Answer :-

« neither conclusion | nor conclusion Il follows /7 g1 fIspY | 31X 7 gt fAsh 11 Waﬁ_{ﬁ%

28) Select the option that is true about the Statements and Conclusions given: / 39 faweu
BT g1 DI Sl % T T HY=1 3R Fewul & 9k & 68t 6:

Statements: [/ ®YH:

No chain is ring / @13 SR 3SY &Y &
All rings are bangles / 9} siiffai gfeai &

Conclusions: / fAsa:

I. Some bangles are rings / $© gf$ai sifedi &
II. Some chains are bangles / gﬁﬁiﬁﬁi 6I"]j%'q'l %

1. only conclusion Il follows / Had FThY || GWUTWT%

2. only conclusion | follows / Had Y | &@TUTEI’T\’_CIT%

3. neither conclusion | nor conclusion Il follows /7 & fST | 3R 7 & fAeh ] &@TUTEI’T\’?T%
4. both conclusion | and Il follows / fspT | 3R 11 L] WW%

Correct Answer :-

« only conclusion | follows / Had Y | &@TUTEI’T\’_CIT%



29) Select the option that is true about the Statements and Conclusions given: / 3d fawe

BT I PIoTE & fp T e FY=T 3R fAepuf & 9 & 9l 8:

Statements: [/ HY:
Some cranes are swans / $9 IRH a9 %
All swans are ducks / 9 g9 a9 §

Conclusions: / faes:
I. Some cranes are ducks / P9 IR dd9 g
II. Some ducks are cranes / $9 ddd IRH g

1. only conclusion Il follows / Had FThY || WW%

2. only conclusion | follows / $Had Y | &WW%

3. neither conclusion | nor conclusion Il follows /7 &1 fST | 3R 7 & fAsh ] WW%
4. both conclusion | and Il follows / fSHY | 3R 11 AT &WW%

Correct Answer :-

« both conclusion | and Ii follows / fswT | 3R 11 EHY SWW%

30) Select the option that is true about the Statements and Conclusions given: / 39 v &1

TU BT o fb 2T 1T =T ok frepef & IR d 91 @:

Statements: / PYH:
All houses are bungalows / 4 TR 71 &
Some bungalows are flats /| $© CUG RS [ %

Conclusions: / fAsa:
I. All houses are flats / 9 TR Fe &
I1. All bungalows are houses / Tt e W %

1. only conclusion Il follows / Had FTH || G@TUTWT%

2. only conclusion | follows / Had Y | &@TUTEI’T\’_CIT%

3. neither conclusion | nor conclusion Il follows /7 & fST | 3R 7 & fAh ] &@TUTEI’T\’?T%
4. both conclusion | and Il follows / fspT | 3R 11 AL WW%

Correct Answer :-

« neither conclusion I nor conclusion Il follows /1 1 s | 3R =1 &t fAnees || &waﬂﬁ%

31) Indian Air Force formally commissioned its first women fighter pilots in / YRA a1g I
A Tt g wfger J! e & siveie U R o wHTioTa farar ATl

1.2012
(1)



2. 2008
3. 2016

4. 2010

Correct Answer :-
e 2016

32) If CENTURION is coded 325791465 and RANK is coded 18510, then how is 78510 coded?
/ & CENTURION @) 325791465 3{k RANK &1 18510 ¥ HIfed forar Siran §, @Y 78510 &) &»d
Hifsd forar s

1. TAKE
2. BANK
3. TANK

4. SANK

Correct Answer :-
¢ TANK

33) The series given below contains a sequence of numbers. Identify the incorrect

combination: / 2 & 7€ §Ear &, BN HT UH HH IUFRIC §1 TAd T UgIIg:
0,4,9,16, 25

1.0

2.25

3.9

4.4

Correct Answer :-

34) The series given below contains a sequence of numbers. Identify the incorrect

combination: / T & 713 §en ¥, Wi #1 UP HH IufRG &1 TAd Ao UgEne:
4, 16, 36, 49, 64, 100, 144
1. 16

2.49
(12)



3. 64

4. 144

Correct Answer :-

.« 49

35) In how many ways can the letters of the word 'STRANGE' be arranged, such that the 'GE'
in the word will always come together? / 'STRANGE' e & 3{&-R°f &I fpda-l UeR I Q‘@ afd
forar o1 g dr & fp 2e # 'GE' gH=I I1Y 3MT?

1. 5040
2.720
3. 2520

4. 1440

Correct Answer :-
e 1440

36) Complete the series choosing the missing letter/s: / Gl SH&R/AHERT BT AP @l Ca| U PIfoTg:
acc__bc__a__ccbbcc__

1.3,b,a,b

2.b,c,a,a

3.b,c,a,b

4,.a,a,b,c

Correct Answer :-

e b,caa

37) In a certain code language God is greatis written sela soja se and Oh my god is written
Ke soka soja, then how is God coded? / T W PIS U H God is greatﬁ sela soja se fera
SITdT 8 3R Oh my god® Ke soka soja far@n Sl 8, @ God &) A Hfea frar srwm?

1. sela
2. soka
3. ke

4. soja
(13)



Correct Answer :-

38) In a certain code language, po/o folo zolo means sun pulls earth, zolo solo bolo means
earth is round, and solo sula soka means what is this. Which is the word for bo/o in that code
language? / Uh ©IT PIS HIHT ﬁ, polo folo zolo T 31 d sun pulls earth; zolo solo bolo T 3 of
earth is round 3R solo sula soka BT 3 what is this BT 81 59 BIS UNT H bolo & fore fy
g BT STAHTA ST 7T 82

1. earth
2. round
3. what

4, sun

Correct Answer :-

e round

39) Five children are sitting in a row. A is sitting next to B, but not C. D is sitting next to
E, who is sitting on the extreme left and C is not sitting next to D. Who are sitting

adjacent to A? / T TR TS IR A IS GUEIA, BHF U H ST W CH U TSI 93T 81D, ES
U 9318, 5 f S 19 W IBT8 3R C, D & UrA 78 93T 81 A & UTH 1< 937182

1. insufficient information / S{WW
2.BandC /B3R C
3.EandB /E3RB

4.DandB /D3RB

Correct Answer :-

« DandB /D3RB

40) In the following question, some group of letters is given, all of which, except one,
share a common similarity while one is different.

Choose the odd one out:

/ Frafafaa uy A, seRt & oo Iqg fRr e 81 39 9t ¥ Fad Ue &) Sie®s, 3 GHHGT 8
wafd TP T |

39 | faus &1 99 Hifor:

1. HK
(14)



2. MP
3. NQ

4. BD

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude

1)
If (x)* / 4 = (%)%, then what number should replace 'x'? / Ife (x)* / 4 = (x)?, T The
HET & %' & dfaeafad &ar afge?

1.4
2.2
3.1

4. 6

Correct Answer :-

. 4
2) )
In the sequence shown below, which figure comes next? / A T3 11 &H &, Hell
HTHTd i | HAA?
[ - i W
{{ﬁ]\ Q{UJ}' ( ) 0
Vot \__/ '
: u i iv
1.

(19)



O

4.

Correct Answer :-

3)
+4-?:n ;sﬁﬁﬁrﬁ|;+§-?:n

Solve it -
5

| L

-

20
41

37
13

4.

Correct Answer :-

(16)



4)

If the following two squares shown below overlap, which one of the following options

is formed? / afg @Fa ef a1 wfdeafag g1 & o BFa & & =la a1 vs AFeT g 27

37
o
A
O

O
m

%
]

Correct Answer :-

(17)



5)
In the sequence shown below, which figure comes next? / Al T3 a1 &H A, el
HTPicr i T IR
d [ d 4 | 9
1 u m v
1.
2.
3.
4,

Correct Answer :-

6) If Mahesh’s is older than Suresh by 6 years and the ratio of their age is 9: 7, then find the age of

Mahesh. / Tfe ARSI, TR A 6 a8 T81 2 3R IAS! 3T BT 3T 9:7 B, ) 7Y B 31 1 B |

1.21
(18)



2.28
3.27

4. 30

Correct Answer :-

o 27

7) Ram and Ravi can do a piece of work in 10 and 15 days, respectively. In how many days will the work

be completed, if both of them work together? /ITH 3R A f<ft sk Y o=t 10 8 15 RA AR
TPd g1 afe 3 I a1y freres w1 w3 @ fvae e & ot qof g

1.5 days /5 fa
2. 10 days / 10 &

3. 16 days / 16 &

4.6 days /6 fad

Correct Answer :-

« 6days /6 faT

8) A number is such that the product of its digit is 12. When 36 is added to the number, the
digits get reversed. What is the number? / T®% HBIT 39 UHR ¢ {5 3% il FT [UHwd 12 71
9 39 =T H 36 SIIST 9T df 39F 3 Ufaafid 8l §id & | 98 W& 1 82

1.43
2.26
3.34

4. 62

Correct Answer :-

e 26

9) The difference between the compound interest and simple interest on a certain sum of
money in 3 years at 5% p.a. is Rs. 6,100. What is the initial amount? / f&dl Af3a R w®
5% Wfaay W 3 quf & Tpgis saTeT 3R ATYRY sATS & S 3R 6,100 TUT § | URA® Iy m 82

1. Rs. 5,00,000 / 5,00,000 E3ee

2. Rs. 5,000 / 5,000 ST

(19)



3. Rs. 8,000 / 8,000 3UY

4. Rs. 8,00,000 / 8,00,000 E3en

Correct Answer :-

* Rs. §,00,000/8,00,000 E3en

10) At present, the ratio between the ages of Niranjan and Deepak is 4 : 3. After 6 years,

Niranjan's age will be 26 years. What is the present age of Deepak? / gau # e 8l

U B 3T BT U 4 : 3 81 6 TUT & UYTd, FRe=T Ft Mg 26 9 it | Shuw Ft gdar omg @
?

1.24 years/24a'5f
2. 15 years / 1599
3. 18 years / 18 9%

4. 21 years / 21 Gl

Correct Answer :-

e 15years/ 15 Gl

11) The average of three consecutive odd numbers is 5. Find the highest of the three

numbers. / @1 waTTT fawy wEmsi &1 3iwd 5 71 FiFY TEmeil | ¥ Swan HEH B 91d $e|
1.7
2. 11
3.5

4.9

Correct Answer :-

12) A shopkeeper brought some wheat for Rs. 35,000. Due to a leakage in the storeroom,
one-seventh of the total wheat had become mouldy. If he sold the good wheat at a profit of
10 % and the mouldy one at a loss of 25%, what is his profit or loss? / T gPHIqR 3 PO ﬁ'é"
P 35,000 TUA H W1 Me™ & NG 811 F FRUI, $o A7 ST Jiadl HIT TR1E ) 111 i 98
3 NE B 10% F ATY TR 3R WRIE g B 25% 1 g1 W 9, dt IqBT A1 a1 311 1 gRiT?

1. 7%

2. 8%

(20)



3. 5%

4. 6%

Correct Answer :-

e 5%

13) A can do a work in 15 days and B in 20 days. Both of them work for 5 days, then the
remaining work is: / A T &1 & 15 371 # 3T B 20 fa=Y & &% gopar g1 3 a1 5 fe=f & fow
P Hd & | 99 TG g3 P &

1. 5/12
2.1/3
3.5/6

4.7/12

Correct Answer :-

e 5/12

14) Two trains, each 100 m long, moving in opposite directions, cross each other in 12 sec. If

one is moving twice as fast as the other, then the speed of the faster train is . /?ﬁﬁ,
Wt i 7 100 Mer @t §, fAudia fazn & g 8 § 3k 12 A$vs & U gk &) IR &l 31 afg
TP, gOt | g Aol & 79 IET 7 A aS Ia arelt ¥ 3t i g

1. 30 kmph / 30 fodt ufd der
2. 20 kmph / 20 foodt gfa e
3. 24 kmph / 24 foodt gfd der

4. 40 kmph / 40 Tt ufcr der

Correct Answer :-

« 40 kmph / 40 Tt ufd geT

15) Pramod scores an average of 60 % in an examination consisting of 15 papers. He has
scored only 40 % average in five of them. What is the average scored in the remaining

papers? / WIS 15 U T &1 U # 60% & N 3 YT Hdl g1 398 I Uig # 98 Had 40%
3N g UTed BT 81 AW Uy v A 3 i . g2

1. 100 %

2.80%

(21)



3.65%

4.70 %

Correct Answer :-

e 70 %

16) A car covers a distance of 500 meters in 20 seconds and a bus covers a distance of 30 km
in 45 minutes.What is the ratio of their speed? / T&® %R 500 Hex &t §'\FT &I 20 YHUS H a9
FHt § MR TP T 30 fH1it Y gt 1 45 firie & g Tt 81 I i FT SruTa T ghI?

1.6:9
2.9:4
3.4:9

4.9:6

Correct Answer :-

17) A boat travels at a speed of 10 kmph in still water. The speed of the stream is 4 kmph.
How much time will the boat take to travel 30 km upstream? / fRR wi@ # 919 10 fHH ufa et
B AT A YT B 81 URT B A1 4 fHi uf g1 81 umy Y faudta fazm & 30 feft &t amn & g
19 fra Iug a2

1. 3hrs/3'€i%
2.6 hrs / 6 9¢
3. 300 min / 300 T C

4. 500 min / 500 f&FE

Correct Answer :-
« 300 min /300 fAc

18) A cricket player scores 20, 30, and 40 runs each in different matches. Find the average

score of the player? / U% fhdbe faard! fafia &= & 20, 30 3R 40 31 9141 21 AT &1 3iwd
THR J1d B}

1. 40
2.50

3.45
(22)



4. 30

Correct Answer :-
e 30

19) If the heights of two triangles are in the ratio 3 : 2, and the bases are i!1 theratio2:5,
then what is the ratio of the areas of the two triangles? / qﬁ 33[ Akl "mrs‘ 3 : 2 3JUrd o
8, 3T 3P SATYR 2 : 5 U | §, 99 G| (ADIVN & SABA! BT SJUTd FIT G2

1.3:2
2.3:4
3.15:4

4,3:5

Correct Answer :-

e« 3:5

20) If the heights of two triangles are in the ration 3 : 2 and their bases are intheratio2: 5,
then what is the ratio of the areas of the two triangles? / afe g f®Ivl @t Hars 3 : 2 U |
8, 3R IT& MUK 2 : 5 3JUTd | §, 99 ST BB & &Awel &1 SJuTd T §RIT?

1.3:2
2.3:4
3.15:4

4,3:5

Correct Answer :-

21) Evaluate: /'FIF-TSHHEI#:

(0.00032) ~ (3/5)

Lh | k2

Lad | =

(23)



LJ‘qu

—
h.?| ke
L

Correct Answer :-

—
h..?|r—-
Lin

22) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: / T &Y TE g@a #, 3&RY 3R BN &1 ve HH AR §1 7o Yo vgE:

i.huioi70110ihuoi
ii.huioi70110ihuoi
iii.huioi70110ihuoi

iv.huioi70110ihooi

4, iii
Correct Answer :-

o iv

23) Which one of the following four addresses is NOT EXACTLY same as the one given below? / IEE] ﬁ’a ™

IR TR AN RS e eI TS T 22

Baker Bani
J1. Industri Utama Blok RR2C,

Jababeka II, Desa Pasirsari,
Lemahabang, Cikarang Selatan, Kab. Bekasi 17550

(24)



(i) Baker Bani
J1. Industri Utama Blok RR2C,

Jababeka 11, Desa Pasirsari,
Lemahabang, Cikarang Selatan, Kab. Bekasi 17550

(ii) Baker Bani
J1. Industri Utama Blok RR2C,

Jababeka 11, Desa Pasirsari,
Lemahabang, Clkarang Selatan, Kab. Bekasi 17550

(iii) Baker Bani
J1. Industri Utama Blok RR2C,

Jababeka 11, Desa Pasirsari,
Lemahabang, Cikarang Selatan, Kab. Bekasi 17550

(iv) Baker Bani
J1. Industri Utama Blok RR2C,

Jababeka 11, Desa Pasirsari,
Lemahabang, Cikarang Selatan, Kab. Bekasi 17550

1. iii

24) Find the average. / 3Nd R
29, 34, 39, 44,49 & 57

1. 42

2.39

(29)



3.37

4. 46

Correct Answer :-

)

25) If three fifth of a number is 40 more than 40 % of the same number, what is the number? /’Clﬁ Udh RiRC|
BT 3/5, AT VBT F 40% A 40 AP B A 98 T=T T 82

1. 100
2. 400
3. 150

4. 200

Correct Answer :-

« 200

26) Rs. 1,800 is shared between A, B, and C. If A gets thrice of B, and B gets twice of C, then what is the
share of A? / A, B, 3R C & d19 ¥ 1,800 TUY &Y qieT MT1 AfE A A B HT foOv =1 3R B A € &1 =1 Ui
fPare, A BT RETFIR?

1. None of the above / JURIGd & A or?l'-:f:|3°r

2. Rs. 1,200/ 1,200 3T
3. Rs. 1,300/ 1,300 SUY

4. Rs. 1,400 / 1,400 ST

Correct Answer :-

e Rs. 1,200/ 1,200 39T

27) What percent of 1.2 is 1/5? / 1.2 T fpa=11 ufar=rd 1/5 82
1. 16.67 %

2.25%

3.20 %

4.15%

(26)



Correct Answer :-

e 16.67%

28) Mohammed bought a television set for Rs. 12,000 and later sold it for Rs. 10,000.What is
his loss percent? (Approximately) / 1=I.13TFI'G C] T A Ae 7 12,000 U § wier 3R diq | 3‘\&
10,000 ¥ ¥ 9= a1 I9HT1 1~ ufa=rd wum 82 (M)

1.16.5%
2.17.5%
3.14.5%

4. 18.5%

Correct Answer :-

e 165%

29) A father is 30 years older than his son however he will be only thrice as old as the son
after 5 years. What is father's present age? [/ UT® foar eru= LE) ¥ 30 99 CE) %I 599 di¢ dg
AT T A FHad foAr a1 ghm i far 3t adae oy« @2

1. 40 years / 40 CL

2. None of the above / STIGd & I or>\|£=re?r
3. 50 years / 50 Gl

4,30 years /309

Correct Answer :-
e 40 years /40 Gl

30) If 75 % of a number is added to 75, then the result is the number itself. Find the
number. / Tfe T T]AT PT 75 %, 75 A SIST W41 & df URUTH I81 T Bt 81 39 H-AT B J1d
cd

1. 350
2. 250
3. 300

4. 280

Correct Answer :-

(27)



e 300

Topic:- Science and Simple Arithmetic

1)
The given graph represents the number of students who have passed in various subjects in a class

of 30. The pass percentage of Mathematics is: / TC3T 79T 3ei@ 39 SrA0 Tl T&GT &
orefta &tar & Siegia 30 &1 Fam & e Al & scdiol fGear &) oifvrg &0
Scdror gfaea %’:

35
30

25 -

20 A

15

10 B Mo of students
5 arEr hT FHEar
o 1 ! 1 - 1 1

English  Hindi Mathematics Science Social Sanskrit
st R afog fasma Science e
gfas
faa=

1. 50%
2.45%
3. 40%

4.35%

Correct Answer :-
e 50%

2)
FCP X (P =(IF L thx=___ /AR ()& Ix(IP=(;F*? dl x=

(28)



4.8

Correct Answer :-

. -4

3)
The diagonals of a rectangle ABCD meet at O. If #ZBOC = 44°,

then #OAD =/ 30d ABCD & fa&ol 0 ox fAaa £l
g 2BOC=44°. 99 £0AD=_

o

1. 64

o

2. 58

o

3. 68

o

4.78

Correct Answer :-

o

- 68

K x* + =194, then the value of x® + —is: /x* + =194,
@ x® + 5 & AG §:

1. 50

2. 46

3.54

4,52

Correct Answer :-

A rectangular sheet of paper 44 cm X 18 cm is rolled along its length and a cvlinder is formed.
The volume of the cylinderis: / 44 HHT X 18 §H! HIOAGR HETA &l ofie &r 3Fhr

FFaTs & G gART AT § 3R ve @ &1 @A gar 81 a9 & a6

(29)



1. 2700 cm3 / 2700 913
2.2727 cm3 [ 2727 T3
3.2772 cm3 / 2772 9413
4,792 cm3 /792 93

Correct Answer :-

e 2772 cm3 /2772 93

When @ + (2x—3) = (2x + 3), then @ stands for: /9d @ +~ 2x—-3)=(2x+3). dd @
EEsCaRRIED %:

1.4x%+ 12x+9

2.4x%2 -9

3.4x%2 — 12x+9

4.1

Correct Answer :-

« 4x2-9

7)
IfEJ%:y— 1 § then the value of v is: Jafe 9%=}'—1§= dd

v & HATT § -

41
12

33
12

127
12

(30)



Correct Answer :-

127

12

8) If AB, BC and CD are equal chords of a circle with O as center
and AD is the diameter, then #AOB = . /TTE AB.BC

3R CD &ew O & GA gcd &I Al § v AD &9
8,09 2AO0B =

1. 60°

2.90°

3.30°

4. 45°

Correct Answer :-

e 60°

9) A teacher wants to arrange maximum possible number of 6000 students in a field such that
the number of rows is equal to the number of columns. Find the number of rows, if 71 students

were left out after arrangement. / WﬁT&‘W w&h A 6000 BT B SfUHTH AT J=T
B 59 UPR AT BT AT8dT § AT Ufaaal &1 =T T B WS & J9= 81 | afe
AT & T1G 71 BTA e MY A A1 Ufadl ot F=1 71 B |

1. 80
2.77
3.78

4.76

Correct Answer :-

10) A car travel 432 km on 48 liters of petrol. How far would it travel on 20 liters? / T PIX 48

diex Ugia | 432 it Y amr ot 81 20 iex Ueia A fra-l gr a@ ar=n sl
1. 176 km / 176 Tt

2. 200 km / 200 TopHT
(31)



3. 180 km / 180 T Ht
4, 144 km / 144 fodt

Correct Answer :-

. 180 km / 180 Tt

11) The value of a flat constructed at a cost of Rs. 1000000 is depreciating at a rate of 10% per
annum. Its value after 3 years of construction will be: / 1000000 08 ot arrd 9 fAffa we &

U 1 ufaad 10% P &2 | Sra¥ed 81 381 ¢ | Ffr & 3 o & vgra sHeT1 Jeu g1m:
1. Rs. 729000 / 729000 T4
2. Rs. 875000 / 875000 3T
3. Rs. 750000 / 750000 ¥0Y

4. Rs. 700000 / 700000 3T

Correct Answer :-

« Rs. 729000 / 729000 SUY

12) The area of trapezium having its parallel sides equal to x + 3 and 2x + 7 and its height 18 cm
is 144 cm2. The difference of its parallel sides is: / TP JHTH P UG '{-F‘lTa x +3 3R 2x

+7% JHM g 3R ITD! SIS 18 THI §1 39 JHAH BT AAHd 144 AHI2 | ITPT
TUMIAR YoI3fi o7 3R 8:

1.7 cm /7 QH!
2.10 cm / 10 91
3.6 cm /6 9Ht
4.5cm /5@1:?[

Correct Answer :-

. 6cm/6@’5ﬂ

13) Which one of the following can undergo nuclear fusion? / F=fEaa & A fras MfUs g Gaa ot
uferar A ToRA BT HHTTAT 82

1. Thorium / ¥ikgH
2. Krypton / fbwei

(32)



3. Deuterium / SIcRIT
4. Uranium / ER’&I’&H

Correct Answer :-

» Deuterium / @ﬁﬁqﬂ

14) The objects which emit their own light are called ./ d TY T YA YHTN T4 Iaforad

B, gl

1. illuminated objects / 3{eipd IXIY
2. reflecting objects / Wﬁ?ﬁaﬁq
3. opaque objects / SORERA CES Y

4. luminous objects / &It TEIY

Correct Answer :-

 luminous objects / diw JEJU

15) When you apply perfume on your body, you feel cool because: / Fd 3T ¥qY TR EE)

A & oY 3T ST HegH B4 €,

1. Perfume is kept at a low temperature. /ﬁaﬁﬁ'ﬁ SIEEIERERLCIRE I ) %I

2. Perfume condenses easily by absorbing energy from your body. / 3D T Soll ! SN B 3
T & Fd 81 ST g |

3. The solvent in the perfume evaporates easily by absorbing energy from your body. / 9 T Iuryd foamas
3P T F SHoll Pl AR P A F I 51 A 5 |

4. The solvent in the perfume evaporates easily by transferring energy to your body. / 39 &1 foama® omge a9 o
Soll I RIFTART B A S I 8 571 g

Correct Answer :-

» The solvent in the perfume evaporates easily by absorbing energy from your body. / ¥4 T IufRyd faamas
3T T I Fyoll B AR PR AT Y A 1 el B

16) Small structures inside a cell that works together is called . BIRBT & iR 31 B
TR N U 1Y BT Helt 3, CaSIni

1. nucleus / TTIH®
2. organelles/aﬂw
3. inclusions / JHTART

(33)



4. cytoplasm /m

Correct Answer :-

» organelles/ HIRBH

17) Which one of the following is an exhaustible resource? Aok K kack: | Udh Hiftra Sare= %?
1. Coal / PITT

2. Rain precipitation / aNT &Y

3. Air/dlg
4. Tidal energy/ﬁfﬂ'q Sl

Correct Answer :-

. Coal/ﬁ'q?ﬂ

18) Find out the wrong pair. / TTdd JIH G| ﬁl’%ﬁ' cxd
1. Intestine — involuntary / 3T - Gﬁm

2. Hand muscles—voluntary/gﬁa@—m

3. Neck muscles —vquntary/WﬁQﬂ—m

4. Air passage — voluntary / aTEII'ITf— m

Correct Answer :-

 Air passage — voluntary / arrgnm‘— m

19) Muscle is connected to the boneby . /ﬂ!:ﬁ, I - a?ﬁ'RT Wﬁazﬁ?ﬁ %I
1. Cartilage /BTIT@J

2. Ligaments only /W Ay

3. Both ligaments and tendons / H1g GﬁT HexT aﬁr

4. Tendons only / Bad HSI

Correct Answer :-

« Tendons only / Hdd He

20) Candles and cosmetics are made of: / HTAERMAT 3R Wed AU sHA T g @
(34)



1. Paraffin wax / SR1fth9 HIH
2. Bitumen / fag@

3. Kerosene / BRI

4. Diesel / Stoldl

Correct Answer :-

« Paraffin wax / BRIt AT

21) Hydra reproduces by: /WWWWW%
1. Budding / Pl

2. Binary fission / fgfaesa

3. Cloning / TR

4. In vitro fertilization / 3 fag s

Correct Answer :-

« Budding / P

22) We feel more comfortable with dark coloured clothes during winter because: / ﬂﬁtﬁa?ﬁﬂ:r
TH BT T H HUS! § TP Teol g H3a &, Fifp:

1. Dark coloured clothes looks good /ﬁW%W 3 fead €1

2. Dark coloured clothes reflects more heat / T8 3 & HUS 31w TH & WRafdd Hd 3|
3. Dark coloured clothes absorbs more heat/T@@Taaa?qg 31fdep T Y AT B B
4. Dark coloured clothes are very cool / TI_EQ I H Eb'ﬂ% dgd NG @ﬁ %I

Correct Answer :-

« Dark coloured clothes absorbs more heat / ﬁw%ﬁ 31fde Tl Y &H@ﬁﬁﬁ?f%l

23) Which of the following statements are true?

(i) Angles forming a linear pair are supplementary.

(ii) Angles forming a linear pair can both be acute angles.

(iii) Two lines parallel to the same line are parallel to each other.

(iv) Two lines perpendicular to the same line are perpendicular to each other.
(3%5)



J FFafafEa & 3 oF 91 Y9 98 82

(i) T 3@ g &1 fAuior sd v 1P &)

(i) TP Q¥® g &1 Fmior $37 ard S Hior € =g i1 8l Ihd g
(iiii) TP &) 3WT & GHHIGR &1 I TP goR b AR gl 2
(iv) TP 81 3W@1 & Taaq & Y@ TP gaY & araad gl 8

1. Only (iii )/ &ad (iii)

2.(i)and (iii)/ (i) SR (iii)

3. (ii)and (ii )/ (i) 3R (iii)

4.0nly (i) / dad (i)

Correct Answer :-

« (i)and (iii)/ (i) 3R (iii)

24) A metal when brought near the end of a strong magnet, it gets repelled. This metal is: /
wiq fHdt wfwT=medt e & SR & Ade te urg ars ol 8, o 98 39 ufasifa #a1 31 gg urg
= % :

1. Non-magnetic / W
2. Ferromagnetic / ?ﬁ%ﬂmﬁq
3. Diamagnetic / Qﬁw
4. Paramagnetic / G{ﬁ’ﬂﬁm

Correct Answer :-

» Diamagnetic / Hﬁw

25) With the money Arvind has, he can buy 50 pens or 150 pencils. He kept 10% of it aside
for taxi fare and with the remaining, he purchased 54 pencils and n pens. The value of nis: /

3RfIE U UrT B YRR T 50 AW IT 150 Uy WIS AhdT 81 3T 10% i} frvme & forw
3eT 39 3T 3R AW YRR & 54 URiT 3R n HaH @I n FTHAMA B:

1.27
2.25
3.29

4. 30

Correct Answer :-

(36)



26) Name two organelles that have their own genetic material. / 3 a’ PRI & 919 qdigq, IGEE RG]
W4 $ ATFalRe arrEh gd 21

1. DNA and RNA / SIT-U UG 3RUAY

2. Mitochondria and plastids / Hlac\ldflllr'%f-{l Td ddd
3. Ribosome and Golgi bodies /mﬂ@ Tieolt B
4. Dictyosome and endoplasmic reticulum | ST T auT WGITI%‘IW

Correct Answer :-

e Mitochondria and plastids /msaﬁf%mqaw

27) One of the features about gymnosperms mentioned below is incorrect. Identify the same. / BE)

giofa sMTgadiel & IR | fawarst § | & Tad 3 IS9Pt uga B
1. The seeds are not enclosed within the fruits. /Eﬂﬁftb_da‘T W’_‘rﬁﬁﬁﬁgl

2. Cones are the reproductive structures. / i TS TS §

3. They mostly comprise evergreen trees. / 39H JHYHIR TaaeR a_é RUIE] Eﬁﬁ %I

4. They bear colourful flowers. / E:I'af CUIC| hd 3Md %I

Correct Answer :-

« They bear colourful flowers. / 370 TH Fd 31 €|

28) During respiration O, is taken in and CO5 is released. The physical process that aids in this
exchange is: / 499 & R 0, 3/ ot wrdl 8 3R co, e gt 31 59 fafvwa o ug ifow uwpw
Hag Bl 3:

1. Osmosis / U
2. Adsorption / Jferemyor
3. Absorption / STFRISOT
4. Diffusion / faaRor

Correct Answer :-

« Diffusion / foaRTr

(37)



. [ AR TUT gt & ot &t g8 3t

The distance between stars and the Earth is measured in
H HIUT SATdT § 1

1. meters /Iﬁa

2. light year / PEIRIEGL]

3. kilometers / foreteer
4. mega units /ﬁmw

Correct Answer :-

o light year / UDIRI ¥

If 3048625 = 3375 X729, then the cube root of 3048625 is: / Tl 3048625 =3375 X729 @r

3048625 T ToTH b
o,

1. 135
2.45
3.225

4.75

Correct Answer :-

e 135

(38)



